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The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.
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Section-A

1. Answer any five from the following questions: 2x5=10

e el st @ @ S50 2or Ter we ¢

(a) What is vernier constant?

wiffar Rz e

(b) Mention the uses of diagonal scale.
TR (FE IR el

(¢) What do you mean by perspective projection?
el Sferws IS I @R ?

(d) What is developable surface?
fReicaisy e

(e) What do you mean by ‘throw’ and ‘heave’?
@l @ B @0 F @A e
(f) How dip valley can be identified from a geological map?

voifge WAty afs Torer Fei@ =\ie I 2

(g) Write the R. F. of the following topographical maps.
frEffe G wmbasfaa R, F. @l
(i) 73E (i) 65 J/9
(h) Mention the signification of dissection index in relief interpretation.

efirst anets Irafbed HEd GFG SEY I |
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Section-B

2. Answer any two from the following questions: 5x2=10

6.

e emefm st @ @ 78 sev Sea we ¢

(a) The perimeter of a square ground is 1648 metre. Calculate the R. F. when one side of
the ground is measured as 103 c¢cm on map. 3

9 Fefieg R A 1648 51 | foeg @ Wb aaf® e el 1.03 cm “Afsst
341 2= WHaGa R, F. $92

(b) Mention two characteristics of comparative scale. 2
TS (R g6 A% @

(a) Mention two identifying characteristics of each of the following rocks and minerals.
(i) Gneiss (i) Dolerite (iii) Calcite 3
frafefee fim ¢ fisafm Arerlba qft I Wrewad @RE @ |
i) B i) oS (i) e

(b) What is cleavage plane? 2
AT ©5 F 2

(a) What do you mean by polar and rectangular co-ordinate? 3
GRF ZINI% ¢ SITeCHas g% w@ite S @i e

(b) Find out length of 40° N latitude on Bonne's projection given R. F. 1:100,000,000. 2
T SCTRAR @efR 40° Bz WAty o e 3| @we R F. 1:100,000.000

(a) Mention characteristics of contour alignment in a topographical map showing escarpment
and conical hill with illustration. 3
MreAtafEE Tmihe $eeh ¢ 7 wglen s sl ST e tafeiey ez
(=Ten |

(b) What is projected profile? 2
sfefed (e e

Section-C
Answer any two from the following questions: 10x2=20

frsfefre emofem s @ @ 76 o Ter e o

(@) Do necessary calculation to draw a diagonal scale to read 576 km. with

R. F. 1:50,00,000. Show value and number of primary,

secondary and tertiary division
in a table. (Don’t draw the scale)

6
576@1%@WﬁmaﬁwmeWmﬂwmeﬂ

R.F. 1:50,00.000 1 925, (el & 20t ©er w9 @ sieay) qaof BE (TG | (CFeils Sl
ARG (+32)

(b) Scale of the original map is 1:50,000. What would be the new R. F.

if its magnitude of
reduction is 1/4th by length.

4
@b 3 o cam 1:50,000 efbcas Cafies giema w174 2o e Wl R, F, 992
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(b) Interpret the geological history of the re
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(a) Calculate the amount of true dip and true thickness of Limestone bed of carboniferous

series from the given Geological map (Map No. 1). Show necessary drawing on the map
and attach it with the answer script. 3+3=6

ane gelfegs Tfba (Map No. 1) (U S 01 Limestone @ET 23 776 @ 257w
stelael e Feat | Wl ARG S (72 | CETATT T SpIfoals ST & AN

gion from the given geological map.

(Map No. 1) 4

#me goifgs IMfca (Map No. 1) et o 3feam ama @l

(a) Do necessary calculation for drawing of graticules on Simple Conical Projection with two

standard parallels for a map of India on a scale 1:40,000,000 at an interval of 4° with
the extension 8°N —40°N and 68°E — 96°E.

Consider 16°N and 32°N as standard parallels. (Don’t draw the projection) 6
b eI SRS A e SSTHRe So Sied TBa SEEE o Sielel S, T4

R. F. 1:40,000,000 353415 4° @ @7 8°N — 40°N and 68°E — 96°E | 2 SFc@al B
16°N € 32°N SPReaieE sl Al | (SISl s awes @)

(b) What do you mean by Azimuthal projection and cylindrical projection? 4

froml et @ @wmigle wforrat Tome F i@ ?

(a) Total number of contour crossing (counted along the perimeter of each square) obtained

from 4 sq cm grid on topographical map with R. F. 1:50,000 and contour interval of 20m
has been shown in the following table (Table — 1). Calculate slope of each grid following
Wentworth’s method. (Show necessary calculation) 6

1:50,000 (%=1 @ 20 metre SA(S (FIF JIUMIS GeAtafErers Wfoca 4 sq cm B (@
2 AATS (2l AR (G A (25 qsfrwea ARSI <= omt w71) Nova GRE
CrIGT 27302 (Table — 1) | Wentworth #7&f® SeRiE 2fsf fres viea «ifmid s = |
(2SI Slelell F2e)

Table—1

Grid No. Total No. of contour crossing
(fare =1zam) AR AR GG el
32
74
89
55
60
68

S b AW N

(b) The latitude and longitude of south western corner of Topographical Map 73N/9 is

22°45’N and 87°30’E respectively.

73N/9 I& Gronalife wforas vfr--iRkow 2itea Sreie e wifkmre germs 22°45°N
8 87°30’E |
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(i) Determine the no. of topographical map having co-ordinates 23°12°N and 87°21’E.

(Show drawing) 2

23°12°N € 87°21'E ZWF Wz 93 ErsisifeEm TEbcas 999 e s
(T (718) | :

(if) What would be the latitude and longitude of south-eastern corner of Topographical
Map 731/16? (Show drawing). 2

73116 R T& AR Twbad wEedl- ofF AlTEd ST 8 wifeset ¥ Q2
(TER (ie) |
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